Assignment 5
Write a script file that conducts the following commands and e-mail it to me. Be sure you run it to make sure it works before you send it to me! 
This assignment will use a completely new data-set. In this data-set, you’ve conducted a random use/non-use study (non-use is detected perfectly). Obviously, the response in your analysis is the presence or absence of the study species. The independent (explanatory) variables in this study include habitat type (5 different vegetation classifications), distance to road (DistToRoad), distance to water (DistToWater), and Elevation.
Import ‘Data5.csv’ that is provided on the web-site

Make sure the data was imported correctly

Run a logistic regression on the relationship between the presence of the study species (‘Presence’) and all explanatory variables (this is typically called the ‘global model’). This model can be made more parsimonious (i.e., eliminating non-significant variables, combining groups in the categorical variable). Take the appropriate steps to arrive at the most parsimonious model – be sure to show all the steps, with the appropriate tests of significance for comparing models 
Using a comment, report the estimated coefficients and Standard Errors of the explanatory variables from the most parsimonious model. 
Create a new variable ‘testing’ that equals the ‘probability’ of resource use as predicted by the model.

Report the effect of each variable on the likelihood of use by the study species (i.e., selection) using comments in your code.
Plot a ROC curve for ‘testing’ against the observed presence

Using a comment, what is the area under the ROC curve?

